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- () There are NINE queslions in this Paper. Al <
s questions carry equal Marks, g
() Attempt Five questions in al|
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‘Answer any seven questions
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= Legree ol statical Indeterminancy is

(¢) Casliglean's first theoremn gives retation
belween rate of change of strain energy
not dellection and .
(d) L P J{F
Ay 2
The deflection at 1 due to load at 2 will be
equal to dellection at 2 duetoload at 1 =
e known as ‘Aot ¥
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- ~ Draw the Influence line of reaction at A. |
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i) Equidistant from the centre of span
(i) 174th from the centro of span
(iv) 3/4th from the centre of span

(9) g L;r)?_’ |
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Generale the flexibility matrix. i
(h) Flexibility matix and stiffness matrix are |
(i) equal _(il)~ reciprocal R |
(iii) not related (iv) None of these { %
(i) As per middie third rule the emenﬂﬂyﬁ i
force should not be greater more than [ '
:
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Draw the conjugale beam,
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Find the statical indeterminancy of the

structure.

(b) State and explain the statical indetermmancy-
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Find the horizontal dispiac?enlem at D.
E = 200 x10°% kN/m?, I = 300x10™® m* by using

vertual work method.

1.5m 5m i5m

Find the deflection A and rotation at B by using
ﬁunjugale beam method.
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Find the dellection at free end by using moment
area method.
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“;5 Find the maximum values for the shear and
moment at Section B for the given load system.
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